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Although each person is unique, each tends to have traits more similar to those of their biological relatives

than to the general population. What explains the similarities and differences between related individuals?
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Although each person is unique, each tends to have traits more similar to those of their biological relatives

than to the general population. What explains the similarities and differences between related individuals?
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Although each person is unique, each tends to have traits more similar to those of their biological relatives

than to the general population. What explains the similarities and differences between related individuals?
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